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Simplification
Exercise 6A

Q1l

Answer :

Given expression:

=21-12+3x2

=21-4x2 [Performing division]
=21-8 [Performing multiplication]
=13 [Performing subtraction]
Q2

Answer :

Given expression:
=16+8+4-2x3

=16+2-2x3 [Performing division]
=16+2-6 [Performing multiplication]
=18-6 [Performing addition]
=12 [Performing subtraction]
Q3

Answer:

Given expression:

=13-(12-6+3)
=13-(12-2) [Performing division]
=13-10=3 [Performing subtraction]

Q4

Answer :

Given EXDFESSiOI’I:
=19-[4+{16- (12 - 2)}]

=19-[4+{16-10}] [Removing parentheses]
=10-[4=4] [Removing braces]
=10-10 [Removing square brackets]
=0

Q5

Answer:

Given expression:

=36-[18-{14-(15-4+=2=x2)}]

=36-[18-{14-(15-2=2)}] [Performing division]
=36-[18-{14-(15-4)}] [Performing mmitiplication]
=36-[18-{14-11}] [Removing parentheses]
=36-[18-3] [Removing braces]
=36-15 [Removing square brackets]
=11
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Q6

Answer :

Given expression:
=27-[18-{16-(5- 4 —1)}

—27-[18-{16-(5- 3)}] [Removing bar]
—27-[18-{16 - 2} [Removing parentheses|
=27-[18 - 14] |Removing braces|
—97-4 [Removing square brackets|
—23

Q7

Answer:

Given expression:

_ 44 -3 4.3 1

_45 .50f5+5xm i
=4%+%x%+%x%—% (Remuving'of’)
_ 4 .3 4.3 _ 1

=% T1 tsXy 5

1 4,3 _ 1 ine '
=Zx: 4+ x4 5 (Removmg )
_ B 4,3 _ 1 ing %’
=<+ exy3 E (Rﬁmovmg x)
_ 5 4,6 _ 1 Removing " x’
=5 tx 5 ( crvmgx)
_ #046-5 _ 41 _ ;16

o 25 T2 T T 25

Q8

Answer:

Given expression:
— (2 4 3 .12 i1
(2 +8)ofd s12x1d -4

— (ﬁ_g“‘) of% —1%)( 1—: — % (Removing parentheses)
— ., 3.42 1 _ 1 ine ? of?
o Xz +lyx 1y 3 (Removing *of)
— 2.5 i1
= 373X 13 3
2. .3 5 1 ing ’ =’
=2x:x7 -1 (Removmgf)
= 245 _ 1
= 35%1 3
-1 _ 1 (Removi.ng’x’)
2 3
)
~— "6 ~ ®
Q9
Answer:

The given expression
_ 712 0£91 413 2923 _
= 7i+2of2 +1% 223 1

=Z 2o 2+ 3023

=2 ;24040 2 (Removing "of”) 0 ,06
=ZxL +2 403 (Removing * =) @ @
=5+%x &
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Q10

Answer
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1 3 . (o4 7
=57 _{3107(23 - ﬁ)}
_ 36 3. (14 7
-7 - {5+t - 4)
_ 38 _ [ . (m7
-7 {10 (m )}
= 3—7'3 — {1—33—%} (Removing parentheses)
= 3—7'3 - {I—ng%} (Removing "+ 7)
= 3—?',3 — 1—?1 (Removing braces)
_ 3&711 _ % =3% (Simp]‘f' )
Q11
Answer:

Given expression:

39 13 13 3
ElEe(s (o)
_ 3 . [13 13 647
=22 {2 - ()
SR FERN FRNT!
_4'[6+3 4]
_» . [ 52 30
_4'[o+{12}
_m .8 1w
_4'[6+12
30 . [26413
= 3 1z
=3 "1
_ 39 12

T X m =3

Q12

Answer :

Given expression:
— 4L |91
=4 0 [2 2
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10 30
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= "5 = 3 =

(Removing parentheses)
(Removing braces)

(Removin,g square bra.ckets)

(Remuving T ’)

(Removing parentheses)
(Removing braces) @

(Remcr\ring square hra.ckets) @


http://cbs.wondershare.com/go.php?pid=5239&m=db

1%)

Q13

Answer :

Given expression:
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Q14

Answer:

Given expression:

Q15

Answer :

Given expression:
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Remove Watermark g

(Removing parentheses)

(Removing braces)

(Remuving square brackets)

(Removing bar)

(Removing parentheses)

(Removing * x 7)

(Removing braces)

(Removing T ’)

(Removing bar)

(Removing parentheses) @
I RS

(Removing braces) @ C)
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Simplification
Exercise 6B

Q1

Answer:

(c)18

Explanation:
=8+4+2x5
=8+ 2x5
=8+ 10 =18

Q2

Answer:

(b)12

Explanation:
=54 +30f6+9
=54 +(3 x6)+9
=54+18+9
=3+9=12

Q3

Answer :

(b)3

Explanation:
=13-{(12-6 + 3)

=13-(12-2)
=13-10=3

Q4
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Explanation:

=1001 + 11 0of 13
1001 = (11 x13)
1001 + 143 =7

Q5

Answer:
(by 121
Explanation:

Given expression:
=133+28 -7-8=2

=133 +4-8 %2 [Performing division]
=133 +4-16 [Performing multiplication]
=137 -16 [Performing addition]
=121 [Performing subtraction]

Q6

Answer :

(a) 3636

Explanation:

Given expression:

=3640-14 T x 2

=3640-2 x2 [Performing division]
=3640 -4 [Performing multiplication]
= 3636 [Performing subtraction]

Q7

Answer :
(b) 920
Explanation:

Given expression:
=100 = 10 — 100 + 2000 - 100

=100 x 10 — 100 + 20 [Performing division]
=1000 — 100 + 20 [Performing multiplication]
=1020 —100 [Performing addition]
=920 [Performing subtraction]

Q8

Answer :

(by23

Explanation: @
O WO
Given expression: 6 C§o\

=T —[18—{16—(5— 4—1] @
=27 — 8 —{16 — (5 —3)}] (Removing bar) 6

=27 —[18 — {16 — 2}] (Removing parentheses) K Q
=27 —[18 — 14] (Removing braces) @

=27 — 4 (Remaoving square brackets) %\ %-

=23

9 ’O
Q ‘§\\ @@
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Answer :
(a) 29
Explanation:

Given expression:

=32 —[48 {36 — (27— 16 —-0)Y
=32 —[48 = {36 — (2T — T)}]

=32 — [48 = {36 —20}]

=32 — [48 = 16]

=32—-3

=29

Q10

Answer:

(3a)6

Explanation:

Given expression:

=8 —[28 {34 — (36 — 18 = 9 x B)}]
=8 —[28+{34 — (36 —2x 8)}]

=8 —[28 = {34 — (36 — 16)]]

=8 — [28 = {34 — 20}]

=8 —[28 = 14]

(Remaving bar)
(Removing parentheses)
(Removing braces)
(Removing square brackets)

[Performing division]
[Performing multiplication]

[Remaoving parentheses)
[Removing braces]

=8—2=6 [Removing square brackets]
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